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READ THESE INSTRUCTIONS CAREFULLY.
DO NOT BEGIN WORKING UNTIL THE PROCTOR TELLS YOU TO DO SO

You have 75 minutes to complete this exam. The exam consists of 9 binary response questions worth 2 points
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IiS . agree to neither give nor receive any help on this exam

from others. I understand that the use of a calculator or communication device on this exam
is academic misconduct. I also understand that providing answers to questions on this exam
to other students is academic misconduct as is taking or receiving answers to questions on
this exam from other students. Thus, I will cover my answers and not expose my answers to
other students. It is important to me to be a person of integrity and that means ALL
ANSWERS on this exam are my answers. Any violation of these guidelines will result in a

penalty of at least receiving a zero on this exam.

Signed

BINARY CHOICE QUESTIONS (9 QUESTIONS WORTH 2 POINTS EACH)

ﬁ’f)/ 1. Thelines y =5+ 2x and 3y + x = 30 do not intersect.
a. True )/:5*)*7(%@9&/9‘?2-
@ False 230-X
7 = 10- X har O rle
I nes maee F-om v sect
mfy 2. Which of the following statements is a positive statement?

a. Sam and Hans should produce the number of apples and oranges at the kink point of their

——3

e il e
joint PPF graph. DA

Sam has an absolute advantage in the production of apples, while Hans has an absolute

advantage in the production of oranges. v

gf fy 3. Kate is a junior in high school and is deciding whether or not she should attend college. The full-

time salary that Kate forgoes to attend college is considered an accounting cost.
a. True é‘? /f'f AP
@ False ﬂ/y/,-wﬁn/}z/t/ (.0171




Aé /M4 A7) 4. Tomownsabakery. He uses two secret ingredients “A” and [ or “B” to prepare his world-famous

cookies. In a particular year, you observe that his demand curve for “A” shifts right. Which of

the following statements might be consistent with this shift? ﬁ A rﬁjﬁr
g . A
a. “A” and “B” are complements, and the price of “B” has gone up. ,;Z % / and /g 7/4
“A” and “B” are substitutes, and the price of “B” has gone up. v’ dre (P Jurts

‘57?'1' / 5. Consider that fast food is an inferior good for Beth. She will reduce her consumption of fast food
if she receives a 15% wage increase.
@ True /4/)7 I eorue = 6} D% 7 /h%ﬂWjaﬁ“t/

b. False

{/ 6. Apartmentrent in Madison is currently $1,000 per month. The government is planning to establish

a price ceiling of $1,200 per month for apartment rent. This policy will most likely create a

shortage of apartments in Madison.

@ False /&/uu wz,;7 7‘1 Ao g%aﬁll"e
muit /e less Than

QZ szbﬁhm /ﬂ V/\C»(



A/OT 7. Brazil and Colombia both produce soy beans and coffee beans. Suppose we observe Brazil imports

HALP coffee beans from Col,c}mlbia, and they export their soy beans to Colombia. Which of the following

statements may he false stsume that the coffee beans and soy beans grown
by the two countries are identical. 7 [ & v/cﬂy 747-)%( 7‘_‘/' S
Colombia has the absolute advantage in the production of coffee beans. ﬂu,}/ml7 e/ i

b. Colombia has the comparative advantage in the production of coffee beans. /7 2e¢.

g&f}‘/ 8. In the financial crisis, the value of the houses owned by American citizens collapsed. How would
you represent this event in the T-account of American citizens? M & e v Ome a/(’
As a decrease in the value of assets and a decrease in net worth. Value yoe owm X ’f

Ses b
b. As adecrease in the value of liabilities and an increase in net worth.  J4/¢ee 0 hous€ 0/
Vilwe o) 2 15 Tofor a gihen

armountofliab des pyitl doret
é} f / 9. Suppose that you have a market with a downward sloping demand curve and an upward sloping wertsh

supply curve. The implementation of an excise tax in this market will always reduce the value of
both the consumer surplus and the producer surplus.

\o True , j

b. False 7
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MULTIPLE CHOICE QUESTIONS (20 QUESTIONS WORTH 4 POINTS EACH)

10. (Warning: this problem will either be easy for you or VERY HARD-do not spend too much time

on this question!) As of 2016, the European Union comprised 28 member states. The GDP (gross
domestic product) per capita of the European Union is equal to $40,000, and the average
population of these 28 countries is 20 million inhabitants. Eight additional countries (Albania,
Bosnia-Hercegovina, Croatia, Iceland, Macedonia, Montenegro, Serbia, and Turkey) have
applied to join the European Union in the last decade. Suppose that the current GDP per capita
of these eight countries is equal to $20,000. Finally, consider that the average population of the
eight countries that are looking forward to joining the European Union is equal to 10 million

inhabitants.

Approximately, what would be the new GDP per capita of the European Union, if the current
member states decide to accept the applications to join the European Union of these eight

countries?

a. $30,000
b. $33,300
c. $34.400

@$ 37,500
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Use the following information to answer the next two (2) questions.

Susan is working on the family farm. She has two main responsibilities: picking apples and collecting

eggs. Susan can collect 30 eggs in 2 hours, and can pick 60 apples in 1 hour.

NOTHAX'D 11. What is Susan’s opportunity cost of collecting 1 egg (in terms of picking apples)?

a. 1/2 apples &3E Lhotwrs
b. 2 apples 3 .
0 -
@ 4 apples et
d. 6 apples : }

OC'O(A—“.:,Q{‘,f dCO/EBVA

NGTH/.]@ 12. Suppose a new technology is introduced on the farm that allows Susan to pick apples at a faster

rate. Holding everything else constant, how does this affect Susan’s opportunity cost of collecting

1 egg (in terms of picking apples)?

Her opportunity cost of collecting 1 egg increases. v’

b. Her opportunity cost of collecting 1 egg decreases. )(

¢. There is no effect on her opportunity cost of collecting 1 egg. )(

d. Her opportunity cost of collecting 1 egg may have increased, decreased, or remained the

same. X

3o \-"f, {7y




.5'0 mE 13. Mark, Kim, and Larry are students at the computer engineering department at UW Madison.
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Besides studying, each of them can work 800 hours per year. Each of them can use their time to
design either websites (w) or Android apps (a). Assume that each of these individuals has a linear

production possibility frontier in the production of these two goods. Mark can design a website

'TH' ErRE ]S in 100 hours and an Android app in 200 hours, Kim can design a website in 80 hours and an

Wo r_IC_ Android app in 200 hours, and Larry can design a website in 100 hours and an Android app in

100 hours. Assume that they decide to create a company together. Which graph (these graphs are

NOT drawn to scale) represents most accurately the joint PPF of their company?
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Use the following information to answer the next three (3) questions.

Every Japanese or American worker can produce 5 cars per year. Each American worker can produce
2 tons of rice and each Japanese worker can produce 3 tons of rice per year. Assume that each country

has 10 million workers.

Pz@pﬂ&&; 14. Which of the following statements is true, given the above information and holding everything
gﬂf / else constant? ‘

a. Neither country has a comparative advantage in the production of cars. Japan has a

comparative advantage in the production of rice.
b. Japan has the comparative advantage in the production of both rice and cars.x N ﬂl ,9‘ cerble
c. Japan has the comparative advantage in the production of car§)and the US has the
. comparative advantage in the production of rice.ax‘
@Japan has the comparative advantage in the pl;duction of rice, and the US has the

comparative advantage in the production of cars.

15. What is the equation for their joint PPF? Consider that ¢ represents millions of cars and r
MabEnA J ‘
b /Ff] cuLT/Y represents millions of tons of rice.

O 100—-53r, Y ifr<30
gy B v
125-521,Y  ifr>30
b. ¢=100-2r X \/ou cowld elimmade There 3

o,

S " P - = e 2 Count s
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{ 20 (1rn? e ditferint OC] roduschns=
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No kank Jomwf' Sm e Theu €
N o7 H/‘fﬂb 16. Which of the following is an acceptable price to both countries fof one car in tefms of tons of rice

250/3 -5/3r, ifr>20

~

assuming that both countries are specializing in the production of the good for which they have a
comparative advantage? CC) ol @ J MH Thu wr Gﬂj
a. 1/8 tons of rice /X i AhH
_ Vbt r . No nes r ol
1/4 tons of rice K

b.
@ 1/2 tons of rice l/
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No 7 HA#D 17. Which of the following events will most likely NOT ca "Jse a shift to the left in the supply curve
of tomatoes in Florida? Holding everything e nstant,

‘ The publication of a scientific study that links tomato consumption and stomach cancer. D SJIJF

b. A financial crisis in Florida that forces the majority of tomato harvesters to go bankrupt. . é}gﬂ S SA’ £

Jeft

c¢. An increase in the price of fertilizers required to harvest tomatoes. 7‘ cort 7/" oo 55

d. A hurricane that destroys a big percentage of tomato fields. baujwf 'r J’t
9 ME 18. Suppose that the price of leather shoes has not changed in the last month, but the quantity sold
206/ ¢C has increased dramatically. Which of the following combination of events is consistent with this
— o~ a .
A/&Z)g) information? f’ & 1 1o whatfue are J&a/c—e774:v
/Wé’ a. The cost of leather has mcreased @nd ;he price of wool socks (a complement of leather shoes)

has also increased. X P

m WW@Jf’

b. The cost of leather has mcreasedi a\nd the price of tennis shoes (a substitute of leather shoes)

has increased. ot AL & 2 /) /
. The cost of leather has decreased, and tlle price of tennis shoes (a substitute of leather shoes)

has also decreased. ﬁ]:\; 3‘<:D Fe, 6
The cost of leather has decreased, an tl&(}_price of wool socks (a complement of leather shoes)
- :
A

has also decreased. P
i

K p2,Q T pree coutd have
£ ND pemaiyrd O

NOT H#A4720 19. Suppose that you are a policymaker that wants to increase the consumption of milk in your
economy. Which of the following policies could help you achieve your goal without having to
intervene directly in the milk market? (Assume milk and cereal are complements, while milk and

soy milk are substitutes.) Holding/everyﬁnng else constant, enact a policy that
: J 5] 7= Meed mone sk
@ Reduces the price of cereal. / Ceredd 0 cesnt J /’475 Le ﬁg

Increases the supply of soy milk at every prlcg( P 4"7""")‘&
c. Reduces the price of soy milk. A /(27 7 WIMM

d. Increases the price of cereal./r Q 2{4( el (vﬂ niffe wreded
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Use the following information to answer the next three (3) questions:

Consider the market of airplane tickets from Madison to Chicago, in which only two companies offer

tickets: American Airlines and United Airlines. An analyst is analyzing the whole market using the

available data. The analyst knows that the following equations describe the individual supply curves

for the two firms where P is the price per ticket and Q is the number of tickets.

American Airlines supply curve:

United Airlines supply curve:

MEDI Um

P=300+Q

D FFI‘#Uy the supply from both airlines) is given by: 1
a. P=400+5/4Q )( ped 2 e ruﬁ«f}’ww

100+ 1/4Q,Y if0<Q <800,

v

140 + 1507 ifgo0<qQ ¥

V v
100+ 1/4 Q.7 if0<Q <800, f
300+Q, X,

d P=140+15Q X need 2 @jy,d"m

1f 800 <Q

P=100+1/40Q

77%' mjd'u cou/d’

Ll f/‘/}/ 4 //hwhdaa

20. Given this information and holding everything else constant, the market supply curve (include

1o matt,
g‘/;/oraaai v
(2),@)ar
Wrom fh e
yﬁem 1A
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/
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(C)es sty
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Couth /3¢& 21, Hint: This is a challenging question and you need to be careful in your analysis! The analyst /4 #¢» +
also has the following demand schedule representing the demand for airplane tickets for men 4 M""f The

yery
. 6/ sand women.
Cﬁw@ G, :

—

Price of ticket Q demanded by men | Q demanded by women
$0 400 200
$300 250 50
$ 600 100 0

2 forms gy

Curres

o peifPen
h,ini?drﬁ/ /y

Assuming that the demand curves for men and women are linear, what are the coordinates of the

kink point of the market demand curve?
1. (Q =300, P=2$300)
(b) (Q =200, P = $400)

C.

(Q =100, P = $600)

d. The market demand curve doesn’t have a kink point.

A/Mﬁwmmf}ﬁ_(

bdvren 5
7 Hhen Sum Thern~
horizomthlly o 5 €F

s AU

M/m



Nor s6 22. Using all the previous information, which is the equilibrium quantity of airplane tickets?

I1F
AAO a. 100 airplane tickets

ou 69T N
Yﬂ'—'ﬂ ! b. 200 airplane tickets 9 =mXxt ¢
@ 400 airplane tickets ? = éf ot ¢
d. We don’t have enough information to solve for the equilibrium quantity. 300 = -;"(?OO)" -
L
#40 [z 160+ 28

o 04 Q < %00

B
2
T

£e0

oo 2 (00 FH
200 = G¢
<00 = ¢

L knkw. we I\Mj

18 Jond

D: ¥P=600-¢

C: =100+ 4G @
boo-@ = [00+ 7@
50= 2,¢

“400= @
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Use the following information to answer the next two (2) questions.

In Oshkosh, Wisconsin the following equations describe the demand and supply for bananas where
P is the price per banana and Q is the quantity of bananas:

Market demand: Qd=9 -P

Market supply: Qs =12 P

23. Suppose that the government establishes a price floor of $8 per banana. At that price floor:

a. Thereisa shortage)gfl banana. L ,} ‘”ﬁ‘”ﬁ”“ @ f) G D:)fw;afk_r
b. Thereisa Shortag§>€)f 3 bananas.

There is a surplus of 3 bananas.

d. Ata price floor of $8 per banana there is not a surplus nor a shortage of bananas. )(

24. The government decides to repeal the price floor, so that the price and quantity are now determined
by the market outcome. Which of the following statements accurately describes a consequence of

the removal of the price floor?
Total surplus increases by $6. / pwi= Kb w/ P e ﬂm"’

b. The producer surplus is smaller in the market equilibrium }han it was with the price floor. X<

¢. Consumer surplus increases by $2. X C.g/mb-{(w\ =.50 CSﬂg/»‘I\-L#JUV = ﬂ% o

d. Nothing happens. The equilibrium quantity and equilibrium price stay the same as they were

with the price floor. X f Mui&ar e %&W — 6, 2)0 )-f-
/{ /‘9)}9?:\4 {!" -%' (1’ ( I)

hee Fllen
/swu%&m%}adm?&ﬁf R - df/'f‘g?
9-P= 50 = me/r'“/ht ;2-(6’0)(3)
:_35/9 2

9 -
=(9) -
7Cé) ;/f {Ls,%myrjm =3

Dwl w/ pm«éem: Ll b, 5 se)iEise S
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Use the following information to answer the next two (2) questions. 2
{¢

4

Suppose that the state government is trying to promote apple production in Eau Claire, Wisconsin.
To do this, they implement a “Price Support Program” in which the government sets up a price floor
and agrees to buy any surplus generated in the apple market. Assume that there are no storage costs

to this program.

The following equations describe demand and supply in this market where P is the price per apple
and Q is the quantity of apples: Jo-G =2

Market demand: Qd =10 - P P=l0-AQ ; b L@

Market supply: Qs =P -2 f= Qv p ifz @

25.1f the government has a limited budget of $54 to spend on this program and is trying to maximize
as much as it can the producer’s surplus, which price floor would the government select?
a. A price floor set at $5 will maximize producer's surplus while staying within the budget

constraint. X 8{ [low —Cgmljbﬂhm //JVI?.P

b. A price floor set a50$7 gl]] 2151x1mlze prod(;ucel sjs_t_lrplus whlleﬁifwng WIth;Tr;the budget
abrF= / 3 =2 S po. 2 o
constraint. (oJM Vi -?X )= /? /t A.“,{dﬁ;& "?60«/:/ ﬁﬂrq//

A price floor set at $9 will mammlze producer's urplus while staying within the%udget
G rP= ? P+ /, S= ﬁ' =, jar 2 on /T
constraint. 4 K G = 5 Leana 94 JVZ&-

d. A price floor set at $11 will maximize producer's surplus while staying within the budget

constrain /a"’ ” QD— 0 => Gyf— cosrt vF ?X////;F
i it 94141&7'7;“%’7‘ (on '/aé%g:l W/badf?‘/

26.Suppose now that the government decides to change its policy and implement a “Price Guarantee
Program™ (a subsidy program) instead of a “Price Support Program™. If the government

implements a price guarantee of $8, how much money would the government spend on this

program?

ifﬁ Fr=5a=¢

c. $36 //q) é Wu/dmrwl
d. $48 bl gty = F

(«s’f 7)(¢)

(,orfﬁcff"f 2 %
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Use the following information to answer the next three (3) questions. S d

’ . . . i .
The state government wants to reduce the consumption of soda in Wisconsin. The fol]owu}g etﬁjatlons

€
describe the market for soda in Wisconsin where P is the price per soda and Q) is the qug%etity of sodas:

Market demand: Qd = 60 — 3P 3= ¢o-@ = 20-%4
Market supply: Qs = 2P ,0 N é’, CQ
To reduce consumption of soda the government imposes an excise tax of $5 per soda that is levied on
the consumers. Sr.' /; é—/@;__{ .zl:_(_p,,,g'::l,dr-f;q)

S+ 20=/20 - 1@
fbmmarz/(, 27. This tax causes the quantity of soda consumed in equilibrium to decrease by approximately:

wNIT a. 16.67% B = %0
g @ 2% DAND> -cp<] (ool ) Q =4¥

c. 33.33%

d. 66.67% - /g_l.,J Joo i < —% (1a2)= — 352

@y}m/a.)’ 28. Fill in the following two blanks based on the information you have been given and holding
/ everything else constant. The tax revenue from this excise tax of $5 per soda is equal to
$ ?0 . If the government decided to increase the excise tax by an additional $15 per soda,

the tax revenue would

, .
a. $100;: increase. ﬁ/\l/‘lﬂv 5 (/ 2) - # ?‘0
$90i;/decrease.'/ coald J'ILa)a APM $rh s

e $70€(increase. §7/ o /-‘3 éd} #30 ? an et [’-) ’{ﬁ" m
d. $60fdecrease. CP ~1o = 20— "-’j &j VJ TaK repenve
3QHM¢ 5 fwmﬁtamjioﬁff/wa ¢ /
29. Suppose now that after establishing the excise tax of $5 per soda, the government plans to use the
tax revenue to reduce the consumption of soda even further. Which combination of the following
additional policies would best accomplish the government’s goal? Use the following assumptions
in doing your analysis: 1) sugar cane is an input in the production of soda; 2) soda and coffee are
substitutes in consumption; and 3) you use coffee beans to produce coffee.
a. Establish an effective Price Support Program for coffee beans. X ﬂe/ﬂa; @
@ Establish an effective Price Support Program for sugar cane where the govemlﬁent buys the

surplus and then destroys the surplus. v

Y
c. Establish an effective Price Guarantee Program for sugar cane)( Jlo duces f &ﬂf"“ coEsec
?é‘f'u Cant CONSmiers

gr_:f-

7o conelemenl,

d. Either (b) or (¢) would be policies that would diminish the consumption 0
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